Name: Date:

Teacher: Class:

The Big Match-Up

Match each question to its answer with a line.

1. 4+8= _
2. 6+3= _
3. 3+9= ]
4. 5+3= ]
5. 8+ 11 = ]
6. 2+15 = ]
7. 2+42= ]
8. 8+ 14 = ]
9. 4+6= _
10. 7+ 1 = _

A 12
B 4
_C. 38
D 10
_E. 12
F 17
G 9
_H. 19
. 8
LI 22
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Score:



Answer Key Date:

Teacher: Class:

The Big Match-Up

Match each question to its answer with a line.

1. 4+8=E. 12 A. 12
2. 6+3=1J 22 B. 4
3. 3+9=H. 19 C. 8
4. 5 +3 =A. 12 \ D. 10
5. 8+ 11 \

. + =B. 4 E. 12

\

6. 2+15=G. 9 A\ F. 17
7. 2+2=C.8 )“‘ G. 9
8. 8+14=F. 17 H. 19
99 4+6=18 . .- 8
10. 7+ 1 =D. 10 / \J. 22
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